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i Q*Nu_i You have four choices for each UI.IJIL(_'I.IVE tvpe qu&shun as A, B, Cand D. The choice which yau think
| is correet, fill that bubble in fromt of (hat question swmber, on bubble sheet. Use marker or pen to
L | fill the bubbles. Cutling or filling iwo or more bubbles will resull in zero mark in that question.
| 8.4 QUESTIONS ; A | B C D
| 1 | Pick the element having least melting Be I Ca Mo Sr
i point among alkaline carth metals? !
i |
| 2 | The mineral sylvite has the chemical : Nalf R M2CO, CaC'od,
| tormula: i |
j—ras iy ! : = |
i3 | Boric acid cannot be used: | Asaptisepric | Forwashing Insoda : For cnamels |
| | in medicine | Cyes bottles and glazes
I | L
i 4 | Oxidation of N in air produaces: - N,0 I N2, | N, O, N, O,
; - | FRRE) P ;
t 5 | Which halegen does eccur natirally in | 1 Br, Lé, /o] |
positive oxidation state? | |
6 | The pure.s_t form of commercial iron is: Pig iran Clast iron V\-"mug];? - Stesl
dron
7 | Which one of the fofléwing iz not Naphthalene | Pyridine Flaran Pyrrole .
| heterocyelic compound? |
[ i
8 i The reaction step shown is knowr as: Hydrolysis ! Hydralion {yﬂrox}latmu Hydrogenation |
| . .- N =i
! ! HOC-CH,-0SOH + 1,0 Y5 3 H.C-CH, - HEST
9 | redict the produci.i.n the reaction: | [";[.Ht SO.H
s i
| ok i i | = o 2
e a , *. [ \] L] /#’\,T 7 W
l I + Lu s \M__,»- ""\_,‘ 4 i i |
"\L.\_-y '} i e H“\.—-—"{" l‘\-?,‘\-:—_-—_’f"’l
10 | For which mechanism the ﬁrs?é:ep . _F1 and E, - }‘“ and ﬁ“.\'; ‘?\iand E ) . E, and_bﬂT
| mvolved is the same? !
11 i Which cnmpeonnd shows mieimum i C,HCt C.HOI | ol O CH,
| hydrogen bendingwith water? :
12 | Which amofig the following is known O LO1H CALOH | CH,CO0H | Gty -G—CH,
as Carhalie acid? ' |
13 [Ketones are prﬂ;ﬂrﬁd by oxidalion off | ‘f'rim'a.:'ry 'S.cucmdar;«'f ! ,- TcrLlarv All of these
aleohol alcohol aleehol
| 14 | Acctamide is prepared by heating; | Ammonium Methyl Ftiryl T Ethyl
acelate cvanide acetale cvanide
15 | Natural starch consisls of how much 50% 80 — 90% 10—20% 40%
| percentage of umylose?
16 | Micronutrients are required in the i 440 g 6200 p - 6-200 ]-.;-;“ P 4— -H}_kg
i quantity ranging from; .
17 A single chloride free radical can 10° 104 : 167 10°
i destroy how many ozone molecules? |
; "
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NOTE: Write same question number and its parts number on answer book, as given in the question paper.
S — SECTION-1 L B
2. Atlempt any eight parts. - - §X2=16 —l
 {i} | What is chemical garden? e = B —
{ii) | llow is boric acid prepared from borax? ) ) 2
| (iit) | What is the effect of heat an boric acid? 2
(iv) | Complete the following reactions: n - T+]
N #R 15 \
@ ]+ 80, —Fumag o, mr L R
:‘4*—};’ - LS
{v) | Give the general mechanisim of electrophilic substitution re: uctiors of benzene. - 2|
| (vi} | What is meant by the terms?  (a) Nitration (h) Ov.ldduun . 1]
{(vit) | What arc steroids? Give one example. 2 |
(viii} Nﬂ'ﬂ*ﬂ’_ important bases which make up | DNA and RNA. . 2
(ix) | I'repare polysiyrene and give ils lwo uses? B ) - 2
(x) | What is acid rain? y @ W
(xi} | How do chlarofluerocarbons destroy the ozone layer?! o e e
| {xii) Wnte he names ¢ of various stages in waler treatment. = . 2
3. Attempt any eight parts. _ §X2=16
{i1 | What are alicvelic wmpmmdh’ Giive their two m&ampif‘\ 8 B B

(i) | Whar is cracking of petroleum? Grive an Exdmpic B =i
_{if) | How will you convert acetic acid to ethane? - |
{iv) Deser 1bc Wall-Kishner’s reduction.

(vi) Wln dn the elements of group VI A UL]]LI’ lhan ox} gcn show mare than two oxidation states? )
{vi1) Wh} is 50, dissolved in H,80), and not in watL,lJ

! {(viii) Dcscnbc ‘Ring test” for the conf lr‘lﬂql_l{:_t_]_ﬂf the Eﬂcn&,ﬁ' of nitrate mm it solution.
| (ix) | How is Grignand’s reagent prepared? Give it equation,
() | What is an Llcf.,lruphllc? Give its two examplesiyr ; o
{x1) | Define Paper. Mention its two woodf rawsmaterials. _ i
| (i) | What are Macronutricnts? Gige (heir reguirement per acre. N »
| 4. Attempt any six parts. 3 _ 6X2=12
(i) | How is paramagnetism rLiaicd i i unp’l]md clectrons?
(ii’j Why do transition cl&menlhthih:l more than one oxidation qta‘teq
(iti) | What is lin plaing
(1\) Give two reactions which invelve the L'L.d'o’ilE,C of & —H bondin alcohols.
( ) | Why can 100% alégbol not be pmparcd by fermentation?
"{vi) | How phemul i 1s Prc.parcd from Bow’s process? N
(vii) | Giwe thegeagtion of acetone with hydrazine and hyd] uu]mmm _
(viii} | Mow s _f‘ormaidehwic Eltpfij_';@ on industrial scale? o ~ |
{ix) | How is acetic acid prepared from 0, ?
' SECTION-II

 NOTE: Attempt any three guestinns. 3 Xy=24
5.4a) | State modern periodic law. [low the classification of ¢lements in Lh'T erent blocks hclps in
| | undesstanding their chemistry? o 3=4
(b) | Write down the problems and their solutions durmg working of Diaphragm cell. _2+2=4 |
f.(a) | Describe the peeuliar behaviour of Fivorine. (any four points) - 4
_{-b) What are the principal methods of chemical pulpmg ? Discuss in detail th,n.:-.uor; [rOCEss
_ invelved in neutral sulphile semi chemical process? - I H3=4
7.4a) | Write a nole on reforming of Petroleumn, . o 4
(by | Explain stucture of Benzene by resonance met me1hud 4
8.(a) | How will you bring about the conversion of ethyne into noulcm" Mention the equations. 4

=Y

{b) '\\-hat are 11uu..leupluht, sub:nlultmm reactions? J_.xplam S"_ 1 reaction.

| D.{a) W nal is cyelic polvmerization of A lkw. nes? (iive the mu.h.;.m&n of aldol mm_!?nsuliuggaction. 4
| (b} | Deseribe twe methods for the preparation ol amino acids. 4




